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Slope lines are small portions of lines tangent to a solution.
Thus slope lines must be straight. They cannot be curved.

Arrows are optional



Integration by parts:

Derivative of a product: (wv) = uv’ + vu/
wv' = (uwv) — vu
[uw = [(w) — [ v
[uv' = (uwv) — [ v/

Example: [ e**sin(3z)

Let u = 8in(3x), du =€>*

then du = 3c03(3:€)“’“ P, %‘?“’

then d%u = ——-—93277,(3:1:) f v —Nl Mzm y v»)é
st \ \

[ e2sin(3z) = Lsin(3z)e — [ 2 cos(3z) + "
~
= Lsin(32)e?® + [Scos(3z)e* + [ L sin(3z)e ]
[ e**sin(3z) = %Sm(gx)ezx_%ws(&v)ezm_% J sin(3z)e*7]
1743 fezf”sin(?ﬂ?) — %sz’n(3a:)62"” —cos(3x)62

_ 3
4
[ e**sin(3z) = & [5sin(3z)e®® — 2cos(3x)e*”]

Optional Exercise: Calculate [ e®cos(2z)
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